SHRONAREX = 2=

12R16B(R

)~12A208 (&

-y

/16B(B) /178(K) /18B8(7K) /198(7) /208B(&)
;-%QEﬁ,f S8 & N fayt $¢> #"E}?%’f
FIFOX=2—A |400A| IZR=v"7R FROGERERM | FooRFXNT | pgponz 2= IR/~
303kcal i&4%1.6g 353kcal 1#EH1.6¢g 413kcal #EH1.1g 315kcal 1#EH1.4g 447kcal EH1.2g
S BOmRIE ~ BALZO20 thiER
#ddHx=2—B | 400M I\rzalik=0 4@a0w ROBRE HENE D—-Z2F&>
385kcal ##H2.2g 382kcal 1{EH1.2g 196kcal 1E40.6g 225kcal 1§5r1.4g 258kcal #H{EH1.7g
FET—0) v a5 FRAERO
~ ERHORKR e Z2—21L EERHAEE i ol
AL —X=a2— | 350M
fn 311kcal iE#H16g fm 319kcal EH1.1g i 276kcal iEH15g fm  288kcal #E#H1.2g fm 333kcal i#EH1.7g
i8R (/M) 578kcal E4H3.4g #eR(7N) 602kcal 154 3.4¢g fE8R (/) 580kcal 1#E435g i8R (/7) 592kcal 1#E493.2g {8k (/1) 614kcal 14 36¢g
f#8R(H) 702kcal 1§43.4g i8R (%) 726kcal iE5H3.4g f#8R(H) 704kcal 184358 f8R(4) 716kcal 1E53.2g 18R () 738kcal 1§43.6g
RS54 K 2%4154 RISHT +—H54 &mtt54 IESH54
28kcal 1#40.5g 78kcal 1#§90.4¢g 93kcal 1#£40.3g 78kcal 1#E40.5¢g 51kcal 1§430.6g
g 80M RBrxeE—17iz A75EDDIZ IMBFEROISL WZEFSL FANAETOLIL

36kcal 1#£40.4g

23kcal #E430.4g

13kcal 1#£430.4g

18kcal 1§43r0.6g

16kcal 1§450.6¢g

BiEEIFE )

IAVAY v/

oDt

MRHR

SR BR

44kcal 1£406¢g

90kcal 184058

111kcal 1E4#08g

54kcal 1§40.6¢g

75kcal 1E40.6¢g

& S5 EEXREZFERLTHYET,







